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Question: 1

Which three statements accurately describe the evolution of the workplace and the importance of
the network? (Choose three.)

A. Mobility causes location borders to shift.

B. Cloud services cause end-user locations to shift.

C. Cloud services cause application borders to shift.

D. IT consumerization causes location borders to shift.
E. IT consumerization causes device borders to shift.

Answer: A,C,E

Question: 2

Which two questions should you ask when assessing an organization's security needs? (Choose two.)

A. Are you exploring new cloud business models?

B. Are you enforcing the same security policies consistently across your organization?
C. Are you using the latest hardware and software versions for your security devices?
D. Are you using single-vendor security equipment?

E. What are the operating hours of your security response team?

Answer: A,B

Question: 3

The Cisco SecureX Architecture is built on which three foundational principles? (Choose three.)

A. context-aware policy

B. virtual office management

C. network management

D. content access control

E. context-aware security enforcement
F. network and global intelligence

Answer: A,E,F

Question: 4

Which two of the following statements correctly describe architecture and design? (Choose two.)
A. The architecture shows building blocks and abstract capabilities of a system and the relationships

between the individual components.
B. The design shows concrete products, expected performance, and scalability options of a solution.
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C. The design is the basis for creating the architecture.
D. The architecture includes a description of the best possible solution.

Answer: A,B

Question: 5

Which three are main drivers for changing operations? (Choose three.)

A. change of market trends

B. change of competition

C. change of application software version

D. change of relative strengths

E. migration of the enterprise network to IPv6

F. migration to Cisco single-vendor networking solution

Answer: A,B,D

Question: 6

Which three best describe the Cisco Borderless Network Architecture? (Choose three.)

A. Infrastructure and network services are the basis for user services.

B. A Cisco Borderless Network is based on a common network infrastructure.

C. Routers and switches provide transport services and operate at Layer 2 and Layer 3 of the Cisco
Borderless Network Architecture.

D. A Cisco Borderless Network Architecture provides borderless network services.

E. User services are not part of the Cisco Borderless Network Architecture.

Answer: A,B,D

Question: 7

What are the two business benefits of a BYOD solution? (Choose two.)

A. reduced OpEx

B. less IT effort to support and secure different devices

C. less IT effort to support and secure different operating systems
D. reduced network complexity

E. increased productivity using own devices

Answer: A,E

Question: 8

Which two statements accurately describe the evolution of the workplace and the importance of the
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network? (Choose two.)

A. Mobility causes location borders to shift.

B. Cloud services cause end-user locations to shift.

C. Cloud services cause application borders to shift.

D. IT consumerization causes location borders to shift.
E. Mobility causes devices to become centralized.

Answer: A,C

Question: 9

Which two questions should you ask a customer, that best help you when assessing an organization's
security needs? (Choose two.)

A. Are you exploring new cloud and BYOD business models?

B. Do you have any Cisco Nexus 7000 deployed in your network?

C. Are you using single-vendor security equipment?

D. Are you enforcing the same security policies consistently across your organization's network?
E. What are the operating hours of your security response team?

Answer: A,D

Question: 10

Which two examples best describe the challenges that customers face in networks of today? (Choose
two.)

A. How can we effectively support extensive collaboration requirements, including video?
B. How do we control energy consumption of devices that are owned by employees?

C. Which type of firewall should we deploy?

D. Do we need to invest in the BYOD solution?

E. How can we disable users from using their own devices?

Answer: A,D
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